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KR, p. 496
#13. A group of n, n>2, people play "odd person out" to decide who buys drinks for the group. Each person flips a

fair coin simultaneously, and the person that has an outcome different from the rest of them buys drinks. If there is no
single odd person out, then the coins are flipped again. This is repeated until an odd person out is identified.

Let X be the number of times the coin-flip experiment is conducted.
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4.74 Find the area under the curve between Z=-1.20 and Z=2.40 ’J‘(»ble( 1.20)
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Quick Probability Estimates

Let X be a nonnegative RV with finite mean p.

Markov Inequality P ( X 2, lr.) < -%— ) k >o

Let X be a RV with finite mean p and variance 2.
o L

Chebyshev Inequality P ( l X — P \ > Ik ) < [ ) I >s
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[KR] Section 7.4, Problem 35
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[KR] Section 7.4, Page 493, Problem 38

T

Y 13?6? Nodow ondy  fFled tn « 0Qo\1 15 G

G Ve AGe J:,C (08380 ConpA QItL B Veyiecwnt <s;f (000 Cav\/;Z"

a. Estimate the probability that more than 11,000 cans are filled in a day.
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b'. Estimate the probability that more than 11000 cans or fewer than 9000 cans are filled in a day.
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b. What is the prob. that the number of cans produced in a day is between 9,000 and 11,000?
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Law of Large Numbers and Central Limit Theorem
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